Lesson 5-3
Use the Solve a Simpler Problem Strategy
Joseph is going to cut a pizza six times. Suppose the slices do not have to be equal sized. What is the greatest number of slices Joseph can create from six cuts?  
Understand You want to determine the greatest number of slices that can be created from six cuts. Slices do not need to be equal in size. 
Plan You can represent pizzas with circles and draw lines representing cuts. Start with simpler situations.  Try illustrating pizzas cut two, three, and four times. Then look for a pattern.


Solve




Notice that each line must cross the previous lines in order to create the greatest number of slices.
Make a table of the data and look for a pattern.

	Number of Cuts
	1
	2
	3
	4
	5
	6
	7

	Number of Pieces
	4
	7
	11
	
	
	
	


You see that there is an increase of 3 between the 1st and 2nd illustration. There is an increase of 4 between the 2nd and 3rd illustrations. You complete the table using this pattern.
	Number of Cuts
	1
	2
	3
	4
	5
	6
	7

	Number of Pieces
	4
	7
	11
	16
	22
	29
	37


37 slices of pizza can be created from 7 cuts.
Check

Make a drawing to confirm your answer.
